# Ruin Probability in a generalized risk process out interest force with homogenous Markov chain premiums

Phung Duy Quang<sup>1</sup> and Pham Anh Tuan<sup>2</sup>

#### Abstract

In this paper, we consider generalized risk processes out interest force with assumption that sequence of premiums is homogenous markov chain, takes a finite number of possible integer values and claims are independent and identically distributed non – negative random variables with the same distributive function. The state space of premiums in this paper is finite, which it satisfies with cases of practice. The aim of this paper is to give recursive equations for finite time ruin probabilities and integral equation for ultimate ruin probability of generalized risk processes out interest force with homogenous markov chain premiums and it establish Generalized Lundberg inequalities for ruin probabilities. Generalized Lundberg inequalities for ruin probabilities are derived by using recursive technique. Theorem 2.1 give recursive equations for finite time ruin probabilities and integral equation for ultimate ruin probability. To establish probability inequalities for finite time ruin probabilities and ultimate ruin probability of this model, we built Lemma 3.1 to define a adjustment coefficient  $R_0 > 0$ , this coefficient is belong to initial value of premiums. Using by Theorem 2.1 and Lemma 3.1, we establish Theorem 3.1, which it give probability inequality for ultimate ruin probability by an inductive approach. Exponential upper bounds for the finite time ruin probabilities and ultimate ruin probability were obtained in Theorem 3.1.

<sup>&</sup>lt;sup>1</sup> ForeignTrade University, Hanoi, Vietnam.

<sup>&</sup>lt;sup>2</sup> Air Defence – Air Force Academy, Hanci, Vietnam.

Article Info: *Received* : September 16, 2013. *Revised* : October 21, 2013 *Published online* : December 1, 2013

#### Mathematics Subject Classification: 60G55; 60K99; 62P05

**Keywords:** Integral equation; Recursive equation; Ruin probability; Homogeneous Markov chain.

# **1** Introduction

Ruin probability is a main area in risk theory (see [1]). Ruin probabilies in discrete time models have been considered in many papers. In classical risk model, no investment incomes were considered there. Recently, the models with stochastic interest rates have received increasingly a large amount of attention. Kalashnikov and Norberg (2002) assumed that the surplus of an insurance company was invested in a risk asset and obtained the upper bound and lower bound for ruin probability. Paulsen (1998) considered a diffusion risk models with stochastic investment incomes. Yang and Zhang (2003) extended the model in Browers et. al (1997) by using an autoregression process to model both the premiums and the claims, and they also included investment incomes in their model. Both exponential and non exponential upper bounds for the ruin probability were obtained. The usefulness of the upper bounds obtained in that article and the relationship between the parameters of the model and the ruin probability were illustrated by some numerical examples. Cai (2002a, 2002b) and Cai and Dickson (2004) considered the problems of ruin probabilies in discrete time models with random interest rates. In Cai (2002a) and Cai (2002b), the author assumed that the interest rates formed a sequence of independent and identically distributed random variables and an autoregressive time series models respectively. In Cai and Dickson (2004), interest rates followed a Markov chain.

In this paper, we study generalized risk processes out interest force. The surplus process  $\{U_n\}_{n\geq 1}$  with initial *u* can be written as

$$U_{n} = u + \sum_{k=1}^{n} X_{k} - \sum_{k=1}^{n} Y_{k}$$
(1)

We assume that:

**Assumption 1.1.**  $U_{0} = u > 0$ ,

Assumption 1.2.  $X = \{X_n\}_{n \ge 0}$  is a homogeneous Markov chain, any n,  $X_n$  takes a finite set of possible integer numbers:  $E = \{1, 2, ..., M\}$  with  $X_o = i \in E$  and

$$p_{ij} = P \Big[ X_{n+1} = j \Big| X_n = i \Big], (n \in N); i, j \in E \text{ where } \begin{cases} 0 \le p_{ij} \le 1 \\ \sum_{j \in E} p_{ij} = 1 \end{cases}.$$

Assumption 1.3.  $Y = \{Y_n\}_{n \ge 0}$  is sequence of independent and identically distributed non – negative random variables with the same distributive function  $F(y) = P(Y_0 \le y)$ .

Assumption 1.4. X and Y are assumed to be independent.

We define the finite time and ultimate ruin probabilities in model (1) with Assumption 1.1 to Assumption 1.4, respectively, by

$$\psi_n(u,i) = P\left(\bigcup_{k=1}^n (U_k < 0) \middle| U_o = u, X_o = i\right),$$
(2)

$$\psi(u,i) = \lim_{n \to \infty} \psi_n(u,i) = P\left(\bigcup_{k=1}^{\infty} (U_k < 0) \middle| U_o = u, X_o = i\right)$$
(3)

In this paper, we derive probability inequalities for  $\psi(u,i)$ . In section 2, we first give recursive equation for  $\psi_n(u,i)$  and integral equation for  $\psi(u,i)$ . We the derive probability inequalities for  $\psi_n(u,i)$  and  $\psi(u,i)$  in section 3 by an inductive approach. Finally, we conclude our paper in section 4.

## 2 Integral equation for ruin probabilities

Throughout this paper, denote the tail of any distribution function *B* by  $\overline{B}(x) = 1 - B(x)$ . We first give recursive equations for  $\psi_n(u,i)$  and an integral equation for  $\psi(u,i)$ .

**Theorem 2.1.** Let model (1) satisfies Asymption 1.1 to Asymption 1.4 then, for n = 1, 2, ...

$$\psi_{n+1}(u,i) = \sum_{j \in E} p_{ij} \left\{ \int_{0}^{u+j} \psi_n(u+j-y,j) dF(y) + \overline{F}(u+j) \right\},$$
(4)

and

$$\psi(u,i) = \sum_{j \in E} p_{ij} \left\{ \int_{0}^{u+j} \psi(u+j-y,j) dF(y) + \overline{F}(u+j) \right\}.$$
(5)

#### Proof.

Let  $X_1 = j \in E; Y_1 = y \in R$ , from (1), we have

$$U_1 = u + X_1 - Y_1 = u + j - y$$

Thus, if u + j < y then

$$P(U_1 < 0 | U_o = u, X_1 = j, X_o = i, Y_1 = y) = 1$$

$$\Rightarrow P\left(\bigcup_{k=1}^{n+1} (U_k < 0) \middle| U_o = u, X_1 = j, X_o = i, Y_1 = y\right) = 1,$$
(6)

while, if  $0 \le y \le u + j$  then

$$P(U_1 < 0 | U_o = u, X_1 = j, X_o = i, Y_1 = y) = 0.$$
(7)

Let  $\{\tilde{X}_n\}_{n\geq 0}, \{\tilde{Y}_n\}_{n\geq 0}$  be independent copies of  $\{X_n\}_{n\geq 0}$  và  $\{Y_n\}_{n\geq 0}$  respectively with  $\tilde{X}_o = X_1 = j, \tilde{Y}_o = Y_1 = y$ Thus, (2) and (7) imply that for  $0 \leq y \leq u + j$   $P\left(\bigcup_{k=1}^{n+1} (U_k < 0) \middle| U_o = u, X_1 = j, X_o = i, Y_1 = y\right)$   $= P\left(\bigcup_{k=2}^{n+1} (u + X_1 - Y_1 + \sum_{j=2}^k X_j - \sum_{j=2}^k Y_j < 0) \middle| U_o = u, X_1 = j, X_o = i, Y_1 = y\right)$   $= P\left(\bigcup_{k=2}^{n+1} (u + j - y + \sum_{j=2}^k X_j - \sum_{j=2}^k Y_j < 0) \middle| U_o = u, X_1 = j, X_o = i, Y_1 = y\right)$   $= P\left(\bigcup_{k=1}^{n+1} (u + j - y + \sum_{j=2}^k X_j - \sum_{j=2}^k Y_j < 0) \middle| U_o = u, X_1 = j, X_o = i, Y_1 = y\right)$   $= P\left(\bigcup_{k=1}^{n+1} (u + j - y + \sum_{j=2}^k X_j - \sum_{j=2}^k Y_j < 0) \middle| U_o = u, X_1 = j, X_o = i, Y_1 = y\right)$   $= P\left(\bigcup_{k=1}^n (u + j - y + \sum_{j=1}^k \tilde{X}_j - \sum_{j=1}^k \tilde{Y}_j < 0) \middle| \tilde{U}_o = u + j - y, \tilde{X}_o = j\right)$ (8)

That, from (1), we have  $\psi_{n+1}(u,i) = P\left\{\bigcup_{k=1}^{n+1} (U_k < 0) \middle| U_o = u, X_o = i\right\}$ Let  $A = \{U_a = u, X_1 = i, X_a = i, Y_1 = v\}$ . Thus, we have

$$\psi_{n+1}(u,i) = \sum_{j \in E} p_{ij} \int_{0}^{+\infty} P\left\{ \bigcup_{k=1}^{n+1} (U_k < 0) \middle| A \right\} dF(y)$$
  
$$= \sum_{j \in E} p_{ij} \left\{ \int_{0}^{u+j} P\left\{ \bigcup_{k=1}^{n+1} (U_k < 0) \middle| A \right\} dF(y) + \int_{u+j}^{+\infty} P\left\{ \bigcup_{k=1}^{n+1} (U_k < 0) \middle| A \right\} dF(y) \right\}$$
(9)

Thus, from (6), (8) and (9), we have

$$\psi_{n+1}(u,i) = \sum_{j \in E} p_{ij} \left\{ \int_{0}^{u+j} \psi_n(u+j-y,j) dF(y) + \int_{u+j}^{+\infty} dF(y) \right\}$$
(10)

Thus, from the dominated convergence theorem, the integaral equation for  $\psi(u,i)$  in Theorem 2.1 follows immediately by letting  $n \to \infty$  in (10). This completes the proof.  $\Box$ 

Next, we establish probability inequalities for ruin probabilities of model (1).

## **3** Probability inequalities for ruin probabilities

To establish probability inequalities for ruin probabilities of model (1), we first proof the following Lemma.

**Lemma 3.1.** Let model (1) satisfies Asumption 1.1 to Asumption 1.4. Any  $i \in E$ , if

$$E(Y_1) < E(X_1 | X_o = i) \text{ and } P((Y_1 - X_1) > 0 | X_o = i) > 0$$
 (11)

Then, there exists a unique positive constant  $R_i$  satisfying:

$$E\left(e^{R_{i}(Y_{1}-X_{1})} \middle| X_{o}=i\right) = 1$$
(12)

Proof.

Define

$$f(r_i) = E\left\{e^{r_i(Y_1 - X_1)} \,\middle|\, X_o = i\right\} - 1; r_i \in (0, +\infty).$$

Then

$$f'(r_i) = E\left\{ (Y_1 - X_1) e^{r_i(Y_1 - X_1)} \middle| X_o = i \right\}$$
  
$$f''(r_i) = E\left\{ (Y_1 - X_1)^2 e^{r_i(Y_1 - X_1)} \middle| X_o = i \right\} \ge 0.$$

Which implies that

 $f(r_i)$  is a convex function with f(0) = 0 (13)

and

$$f'(0) = E\left\{ (Y_1 - X_1) \middle| X_o = i \right\} = EY_1 - E(X_1 \middle| X_o = i) < 0.$$
(14)

By  $P((Y_1 - X_1) > 0 | X_o = i) > 0$ , we can find some constant  $\delta > 0$  such that

$$P((Y_1 - X_1) > \delta > 0 | X_o = i) > 0$$

Then, we can get that

$$f(r_i) = E\left\{e^{r_i(Y_1 - X_1)} \middle| X_o = i\right\} - 1 \ge E\left\{e^{r_i(Y_1 - X_1)} \middle| X_o = i\right\} \cdot \mathbb{1}_{\{(Y_1 - X_1) > \delta \mid X_o = i\}} - 1$$
  
 
$$\ge e^{r_i \delta} \cdot P\left((Y - X_1) > \delta \middle| X_o = i\right) - 1.$$

Imply

$$\lim_{r_i \to +\infty} f(r_i) = +\infty.$$
(15)

From (13), (14) and (15) suy ra there exists a unique positive constant  $R_i$  satisfying (12).

This completes the proof.  $\Box$ 

Let: 
$$R_o = \min \left\{ R_i > 0 : E \left( e^{R_i (Y_1 - X_1)} \middle| X_o = i \right) = 1, (i \in E) \right\}$$

Use Lemma 3.1 and Theorem 2.1, we now obtain a probability inequality for  $\psi(u,i)$  by an inductive approach.

**Theorem 3.1.** Let model (1) satisfies Asymption 1.1 to Asymption 1.4 and (11). For any u > 0 and  $i \in E$ , we have

$$\psi(u,i) \le \beta_1 e^{-R_o u} \tag{16}$$

where

$$\beta_{1}^{-1} = \inf_{t \ge 0} \frac{\int_{t}^{+\infty} e^{R_{o}y} dF(y)}{e^{R_{o}t} \cdot \overline{F}(t)}$$
(17)

#### Proof.

Firstly, we have

$$\beta_1^{-1} = \inf_{t \ge 0} \frac{\int_{t}^{+\infty} e^{R_o y} dF(y)}{e^{R_o t} \cdot \overline{F}(t)} \ge \inf_{t \ge 0} \frac{\int_{t}^{+\infty} e^{R_o t} dF(y)}{e^{R_o t} \cdot \overline{F}(t)} = \inf_{t \ge 0} \frac{\int_{t}^{+\infty} dF(y)}{\overline{F}(t)} = 1 \Longrightarrow \frac{1}{\beta_1} \ge 1 \Longrightarrow \beta_1 \le 1.$$

For any  $t \ge 0$ , we have

$$\overline{F}(t) = \begin{bmatrix} \int_{t}^{+\infty} e^{R_o y} dF(y) \\ \frac{t}{e^{R_o t} \cdot \overline{F}(t)} \end{bmatrix}^{-1} \cdot e^{-R_o t} \cdot \int_{t}^{+\infty} e^{R_o y} dF(y)$$

$$\leq \beta_1 \cdot e^{-R_o t} \cdot \int_{t}^{+\infty} e^{R_o y} dF(y)$$

$$(18)$$

$$\leq \beta_{1}.e^{-R_{o}t}.\int_{0}^{+\infty} e^{R_{o}y} dF(y) = \beta_{1}.e^{-R_{o}t}.E\Big[e^{R_{o}Y_{1}}\Big].$$
(19)

Then, for u > 0 and  $i \in E$ ,

$$\psi_1(u,i) = P(U_1 > 0 | U_o = u, X_o = i) = \sum_{j \in E} p_{ij} \overline{F}(u+j)$$
(20)

Thus, from (19) and (20), we have

$$\begin{split} \psi_{1}(u,i) &= \sum_{j \in E} p_{ij} \overline{F}(u+j) \\ &\leq \beta_{1} \sum_{j \in E} p_{ij} e^{-R_{o}(u+j)} \cdot \int_{u+j}^{+\infty} e^{R_{o}y} dF(y) \\ &\leq \beta_{1} \sum_{j \in E} p_{ij} e^{-R_{o}(u+j)} \cdot \int_{0}^{+\infty} e^{R_{o}y} dF(y) \\ &\leq \beta_{1} \cdot E \Big[ e^{R_{o}Y_{1}} \Big] \sum_{j \in E} p_{ij} e^{-R_{o}(u+j)} = \beta_{1} \cdot E \Big[ e^{R_{o}(Y_{1}-X_{1})} \Big| X_{o} = i \Big] \cdot e^{-R_{o}u} = \beta_{1} \cdot e^{-R_{o}u} . \end{split}$$
(21)

Under an inductive hypothesis, we assume for any u > 0 and  $i \in E$ ,

$$\psi_n(u,i) \le \beta_1 \cdot e^{-R_o u} \tag{22}$$

From (21) implies (22) holds with n = 1. For  $j \in E$ , u + j - y > 0, we have

$$\Psi_n(u+j-y,j) \le \beta_1^* \cdot e^{-R_o^*(u+j-y)}$$

Where

$$\beta_{1}^{*-1} = \inf_{t \ge 0} \frac{\int_{t}^{+\infty} e^{R_{o}^{*}y} dF(y)}{e^{R_{o}^{*}t} \cdot \overline{F}(t)}, E\left(e^{R_{o}^{*}(Y_{1}-X_{1})} \middle| X_{o} = j\right) = 1 \text{ and } R_{o}^{*} \ge R_{o} > 0.$$

$$\operatorname{Any} t \ge 0: \frac{\int_{t}^{+\infty} e^{R_{o}y} dF(y)}{e^{R_{o}t} \cdot \overline{F}(t)} = \frac{\int_{t}^{+\infty} e^{R_{o}(y-t)} dF(y)}{\overline{F}(t)} \le \frac{\int_{t}^{+\infty} e^{R_{o}^{*}(y-t)} dF(y)}{\overline{F}(t)} = \frac{\int_{t}^{+\infty} e^{R_{o}^{*}y} dF(y)}{e^{R_{o}^{*}t} \cdot \overline{F}(t)} \text{ then}$$

$$\beta_{1}^{-1} = \inf_{t \ge 0} \frac{\int_{t}^{+\infty} e^{R_{o}y} dF(y)}{e^{R_{o}t} \cdot \overline{F}(t)} \le \beta_{1}^{*-1} = \inf_{t \ge 0} \frac{\int_{t}^{+\infty} e^{R_{o}^{*}y} dF(y)}{e^{R_{o}^{*}t} \cdot \overline{F}(t)} \Leftrightarrow \frac{1}{\beta_{1}} \le \frac{1}{\beta_{1}^{*}} \Leftrightarrow \beta_{1}^{*} \le \beta_{1}$$

That

$$R_o^*\left(u+j-y\right) \ge R_o\left(u+j-y\right) > 0,$$

then

$$\psi_n(u+j-y,j) \le \beta_1 e^{-R_o(u+j-y)}$$
(23)

Therefore, by (4), Lemma 3.1, (18) and (23), we get

$$\begin{split} \psi_{n+1}(u,i) &= \sum_{j \in E} p_{ij} \left\{ \int_{0}^{u+j} \psi_n(u+j-y,j) dF(y) + \overline{F}(u+j) \right\} \\ &\leq \sum_{j \in E} p_{ij} \left\{ \beta_1 \cdot \int_{0}^{u+j} e^{-R_o(u+j-y)} dF(y) + \overline{F}(u+j) \right\} \\ &\leq \sum_{j \in E} p_{ij} \left\{ \beta_1 \cdot \int_{0}^{u+j} e^{-R_o(u+j)} \cdot e^{R_o y} dF(y) + \beta_1 \cdot e^{-R_o(u+j)} \cdot \int_{u+j}^{+\infty} e^{R_o y} dF(y) \right\} \end{split}$$

$$=\beta_{1} \cdot \sum_{j \in E} p_{ij} e^{-R_{o}(u+j)} \cdot \int_{0}^{+\infty} e^{R_{o}y} dF(y) = \beta_{1} \cdot e^{-R_{o}u} \cdot E\left[e^{R_{o}(Y_{1}-X_{1})} \middle| X_{o}=i\right] = \beta_{1} \cdot e^{-R_{o}u}$$

Hence, for any n = 1, 2, ... (22) holds. Therefore, (16) follows by letting  $n \to \infty$  in (22).  $\Box$ 

## 4 Concluding

Our main results in this paper, Theorem 2.1 give recursive equations for  $\psi_n(u,i)$  and an integral equation for  $\psi(u,i)$ , Theorem 3.1 give probability inequalities for  $\psi_n(u,i)$  and  $\psi(u,i)$  by an inductive approach.

# References

- [1] S. Asmussen, *Ruin probabilities*, World Scientific, Singapore, 2000.
- [2] H. Albrecher, Dependent risks and ruin probabilities in insurance, *IIASA Interim Report*, IR-98-072, (1998).
- [3] J. Cai, Discrete time risk models under rates of interest, *Porbability in the Engineering and Informational Sciences*, **16**, (2002), 309-324.
- [4] J. Cai, Ruin probabilities with dependent rates of interest, Journal of *Applied Probability*, **39**, (2002), 312-323.
- [5] J.Cai and D.C.M. Dickson, Ruin Probabilities with a Markov chain interest model, *Insurance: Mathematics and Economics*, **35**, (2004), 513-525.
- [6] H. Nyrhinen, Rough descriptions of ruin for a general class of surplus processes, *Adv. Appl. Prob.*, **30**, (1998), 1008-1026.
- [7] T. Rolski, H. Schmidli, V. Schmidt and J.L. Teugels, *Stochastic Processes for Insuarance and Finance*, John Wiley, Chichester, 1999.
- [8] S.D. Promislow, The probability of ruin in a process with dependent increments. *Insurance: Mathematics and Economics*, **10**, (1991), 99-107.
- [9] B. Sundt and J.L. Teugels, Ruin estimates under interest force, *Insurance: Mathematics and Economics*, **16**, (1995), 7-22.
- [10] B. Sundt and J.L. Teugels, The adjustment function in ruin estimates under interest force. *Insurance: Mathematics and Economics*, **19**, (1997), 85-94.
- [11] L. Xu and R. Wang, Upper bounds for ruin probabilities in an autoregressive risk model with Markov chain interest rate, *Journal of Industrial and Management optimization*, **2**(2), (2006), 165-175.
- [12] H. Yang, Non exponetial bounds for ruin probability with interest effect included, *Scandinavian Actuarial Journal*, **2**, (1999), 66-79.
- [13] G.E. Willmost and X.S. Lin, Lundberg Approximations for Compound Distribution with Insurance Applications. Springer Verlag, New York, 2001.